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The purpose of providing side rake angle in the

cutting tool is
_____________ (a) avoid work from rubbing against tool —> %’ i'-’—F Awa!e,

og/ \Gb')fontrol chip flow

(c) Strengthen tool edge
(*} Break chips
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The angle of inclination of the rake face with
respect to the tool base measured in a plane

o( ------ : perpendicular to the base and parallel to the width
% of the tool is called

), Backc nilon e N\
¥ / \j() Side rake angle

AL

| (c) Side cutting edge angle)(
(d) End cutting edge angle)&




X cutting o{_L b Bare Ard || twid{h
) X L& 8ae Ard || o Lo
X 0@5 \"f
R §pa
adh || & UHivgﬂlona“ | fo Base il
N
X Noce ?\aﬁiw)({{
il Ce )
e <




USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount Adda

e

Which of the following is a single point cutting

tool?
(a) Hacksaw blade

(b) Milling cutter > MPc
(c) Grinding wheel

Martingtool ] SPeT
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X- Csl‘\ Consider the following statements:
In an orthogonal, single-point metal cutting,

Ka Yiod Foxce —> £ as the side-cutting edge angle is increased,
X I >1&The tangential force increases.

X Axi,,& O&Uﬂa'*\‘&mo\ fve — F’( _Z The longitudinal force drops.

X T d | \g./rhe radial force increases.

% i o'\chwﬂ force — Fe Which of these statements are correct?
. _ (a) 1and 3 only (b) 1and 2 only
* f}:ﬁs'hg’r \yfzandgonly (d)1,2and3

%lﬁ( =k (ogcslr
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Consider the following statements:

The strength of a single point cutting tool depends
upon

1. Rake angle

2. Clearance angle

Which ot
s'heﬂa'ﬂ'\ Qr TW\ — \,) Which of these statements are correct?
(a) 1and 3 (b) 2andj

Xt p 4o = A0°=cow| (€) 2and 4T 1,2and 3
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oJiuS Consider the following statements with respect
ﬂog&o\ to the effects of a large nose radius on the tool:
/ / / 1>< It deteriorates surface finish.
3~ Itincreases the possibility of chatter.
\,3./ It improves tool life.
gU‘LFq = R""ﬂ"‘“esg Uﬂ) Which of the above statements is/are correct?

u(((zand3orﬂ)' (d) 1,z2and3
X ?\'V-—-—a h = excellent Sv'f’ve F'v‘sl,

o-Qwrm< R <L

(@) 2 only (b) 3 only
%\[ h- L
&R
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@Ive " %l'fa ;——’7 0{'"\060"00 Maclyw h@ A single - point cutting tool with 12° rake angle is

0 used to machine a steel work - piece. The depth
* K=\ of cut, i.e. uncut thickness is 0.81 mm. The chip
% do( = 0 Qvwm — t thickness under orthogonal machining
_ ) condition is 1.8 mm. The shear angle is
X- -l:C' 8 approximately
% % 7’7 \Jxé° (b) 26° (c) 56° (d) 76°
Solu jon ©— _ Ttogex _t _ ol _ o

)~ ¥ Qmo\
X o= (i) st
|- %%'-) Qinia
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Tool geometry of a single point cutting tool is specified by

the following elements:

1. Back rake angle

2. Side rake angle

3. End cutting edge angle
4. Side cutting edge angle
5. Side relief angle

6. End relief angle
7. Nose radius

The correct sequence of these tool elements used for
correctly specifying the tool geometryis

(@) 1,2,3,6,54,7 1,2,6,5,3,4,7
(c) 1,2,56,3,4,7 (d) 1,2,6,3,5,4,7
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In a single point turning tool, the side rake angle
and orthogonal rake angle are equal. @ is the
principal cutting edge angle and its range is

0" < ¢ <90 The chip flows in the orthogonal plane.

The value of @ is closest to
X Ham = Janes2inki-ovets o4 (a) 0° (b) 45°
X o= famks S { ol S\ AT O
'

= O<S
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clheay @vaiw (Q ) Minimum shear strain in orthogonal turning
N2 with a cutting tool of zero rake angle is
& = COH“_-'- fam($-%) (a) 0.0 (b) 0.5
\Y
A = 0 (c) 10 \/(,d’){
&) x go 2 ol S
C N X- &= catye f a4

\ S’L,eaf /"ﬁ'e ﬁ‘( Nfﬂih)bw) )6 C = '+' :c&

Sheav $fra Y
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q;vch Pl %

A single point cutting tool with 12° rake angle

/]
¥ X = \J is used for orthogonal machining of a ductile
material. The shear plane angle for the
X $=0%r Sy . o . .
) theoretically minimum possible shear strain
o O = to occur
Solvtion &

\(}y( (b) 45

_ —et
* e — CO‘(' ¢ """‘W(_ﬂ ) (c) 30 (d) None of these

X g:Co+;§++ﬂ~(¢~'&) ?5,_ 90’&“-_—_ 01 _ &lo
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Gjiven Qata 3—> The rake angle of a cutting tool is 25°, shear angle 45°
K oL= 18" and cutting velocity 33 m/min. What is the velocity
X ¢ =48 of chip along the tool face!
X V= 2% '”/M;n \m-s m/min (b) 273 m/mun
X Ve =/ ©) 253m/min  (d) 235m/min
Solvtitn 3> Ve _ Sinp 35X Sims

V Cog(3-=) K Ve = Cos(4s-15)
V4 ;Vg _ Sin4s—







USE CODE Y662 to Join ADDA247 Paid Classes and GET Max Discount

Gven ta 3> OtHogoralcVl4ivg Consider the following statements:
In an orthogonal cutting the cutting ratio is found to be

+ — O 5\ 0+75. The cutting speed is 60 m/min and depth of cut 2-4
* T 7 mun. Which of the following are correct?
* V= éo m/m.' 1.  Chip velocity will be 45 m/min.

d 2. Chip velocity will be 80 m/min.

¥ doc = &4qu:~[; 3. C}u}@icknesswillbel-Smm
4. Chip thickness will be 3-2 mm.

¥ Ve =— Select the correct answer using the code given below:
1': __‘ (a) 1 3 1and 4
% < — y (c) 2an (d) z2andg |
§0'Uho °— :—_,_—t-——_:_c_: -
1&Ox =TTy G)x =T 4 _a

X o= Q_—é% ‘-—'—)fc: EEle QW’
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GﬁVeW ata 31— O'(‘H«oat)hal C\:Hf'\ﬁ An orthogonal cutting operation is being

* \/C—- A M/S CaITied out under the fol]owing Conditions;
X doc=09wm—=t cutting speed = 2 m/s, depth of cut = 0.5 mm,
Y 4, = o bmm chip thickness = 0.6 mm. Then the chip
¥ VC__ velocity is
—
Solvfions> 5 £ =% @ 20m/s (b) 24m/s
4 t; v (c) Lom/s \,(,d’)/n,66 mie
X === 1c
" JE_ W X Ve = I-46my
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In an orthogonal cutting, the depth of cut is halved
and the feed rate is double. If the chip thickness
ratio is unaffected with the changed cutting
conditions, the actual chip thickness will be

(a) Doubled \&7 halved

(c) Quadrupled (d) Unchanged.
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